[ |
3 splra)(
Y sarco

001

cnmoimoossos  |FT54 Carbon Steel Ball Float
e Steam Trap with Integral Spiratec
Sensor and Flanged Connections - (Spares)

DN15 IFT54V (vertical) shown

DN40 IFT54H (horizontal) shown

Safety information, installation and maintenance
For full details see the Installation and Maintenance Instructions (IM-P603-03) supplied with the product.

Installation note:

The trap is designed for installation with the float arm in a horizontal plane so that it rises and falls vertically, ideally with a drop leg immediately
preceding the trap. Suitable isolation valves must be installed to allow for safe maintenance/replacement. Where steam traps are fitted in
exposed conditions, the possibility of freezing damage may be reduced by thermal insulation/draining/isolation.

Caution: The cover gasket and main valve assembly gasket may contain a thin stainless steel support ring which may cause physical injury
if it is not handled and disposed of carefully.

Maintenance note:
Maintenance can be completed with the trap in the pipeline, once the safety procedures have been observed. It is recommended that new
gaskets and spares are used whenever maintenance is undertaken.

Disposal
No ecological hazard is anticipated with the disposal of these products provided due care is taken.

Local regulations may restrict the use of this product to below the conditions quoted.
In the interests of development and improvement of the product, we reserve the right to change the specification. © Copyright 2005



Spare parts

The spare parts available are shown in heavy outline. Parts shown in broken line are not supplied as spares. For further technical information

see TI-P615-06.
Available spares

Main valve assembly with float

(DN15, DN20 and DN25)

5, 6, 10, 12, 13, 14, 15

Main valve assembly with erosion deflector (DN40 and DN50) 7,8,9, 16
Ball float (DN40 and DN50 only) 11
Air vent assembly 17,18
Complete set of gaskets (packet of 3) 3,9, 18,20
Sensor and gasket 24,25

How to order spares

Always order spare parts by using the description given in the column headed 'Available spares' and state the size, Model No., orientation i.e.

horizontal (H) or vertical (V) and pressure rating of the trap.

Example: 1 - Main valve assembly for a DN40 IFT54H-4.5 ball float steam trap. For operating pressures up to 4.5 bar.

IFT54H shown

A:\\\
(o3 >3~
AT
/ ==-NCAN N\
/ \QR /1o
7 I\
P \(
/ \\ \\
1o
/ 0
/ 11
/ 111
I I 11 7 16 8 9
{ I Main valve assembly
\ _ 0o for DN40 and DN50 n‘f?’?]:"i::\‘
\ SR YN . size traps with ([ \\\-_La
\ ‘\(51 Py \, /[/ ( erosion deflector f 3
Sl SEAC APV AR [T N N
@Y L W)
| AN \y/” I
25 24 NN/
NN
\~\\\§)l‘)
|lO 136 14 |
Main valve
assembly with
float for DN15,
DN20
and DN25 size traps
Recommended tightening torques
or >|_|<
Item No. o) N m
O/ mm
IFT54H Bolt 10 (socket) M12 x 35 70 - 75
DN15, DN20 and DN25 IFT54V Stud M12 35 -40
4 Nut 19A/F M12 70 - 75
IFT54H Bolt 24 AIF M16 x 55 150 - 165
DN40 and DN50 IFT54V Stud M16 70 - 80
Nut 24 AIF M16 150 - 165
5 Valve seat 17 A/F M12 50 - 55
14  Valve bolts 10A/F M6 x 10 10 - 12
16 Erosion deflector bolts 10A/F M6 x 10 10 - 12
17  Air vent seat 17 A/F 50 - 55
25 Sensor 24 A/F 50 - 55
spira)g IFT54 Carbon Steel Ball Float Steam Trap
arco with Integral Spiratec Sensor and Flanged Connections - (Spares) TI-P615-05 ST Issue 2




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveEPSInfo false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /FractionsNarrow
    /FractionsRegular
  ]
  /NeverEmbed [ true
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Condensed
    /Helvetica-Condensed-Bold
    /Helvetica-Condensed-BoldObl
    /Helvetica-Condensed-Oblique
    /Helvetica-Narrow
    /Helvetica-Narrow-Bold
    /Helvetica-Narrow-BoldOblique
    /Helvetica-Narrow-Oblique
    /Helvetica-Oblique
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Average
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.00333
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Average
  /GrayImageResolution 72
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.01389
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Average
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00333
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <FEFF004d0061007300740065007200660069006c0065002000730065007400740069006e00670073>
  >>
>> setdistillerparams
<<
  /HWResolution [72 72]
  /PageSize [612.000 792.000]
>> setpagedevice


